T &% =

1 &% - #=
AB2YRLRAALY (128%K)

2 fiEk - RRF
AE—ERODEEY
BE. MATEIZAVIE. BERA—D—HTEEZAVEFRA LT B,

3 REEDEH
RIBEEICIE., 24 VKRKER, 24 VHEBRUNS D AARERZHITTRET S
&,

4 MA%
BERT (MRBEDMEANERAR)

5 #hEA
SM7HFE9A30H (K) XBHOMREFRE

6 M
(1) I TICEmALIMYANINTLEIREIY FLRFZAVYRUKRA —ILEMAEEDL
BIEmMY. HILLWRAZ Y FLRAAXIHBR., 24 VICHZEROERES 5L
BLIz-T—TF&#/YRITT. MRT S,
BE. BRAAYRFLRAZAXIZDOWWTIX, BEETTWMSZ &,

(2) MEBFRISOVWTIK. MERENERRNEET SIRTERAMTEES LTS &,
Q) BERADERYFIHERERE,

7 Zhih
EHEOREX., IXNTRBELEICEDBH L,

8 ELEEMRL
T371—8570
HIEMAFH—TE1E 1S
HERKBHMEAMNTRARMEEER
B FE BHE
EE:027—226—2065



5| HERE FN— HA HAX
1|me2-168 | me2-167|[BEFE 580 & 4277 |#41\Y Tut|145/80R12 18| 4K
2|#B2-74 [#B2-75 |HI[¥E 580 & 5182 |RX#% FILHV
3|#B2-75 ®B2-74|HFE 580 & 5184 |RX*% FILHV
4|mB2-89 B2-90|Hij#5E 580 & 5185 [RX% FLRHV 145/80R13 6| 24%
5|#B2-90 #B2-89 [Fi[#E 580 & 5186 |RX*F FIFHV
6 |#B2-107 #B2-108|Fi[}E 580 & 5187 |RX*F FIFHV
7 |B2-108 @WB2-107|Fi[#E 580 & 5188 |RX*F FIFHV
8|#B2-115 mB2-116|HI[4E 400 & 8730 |=vH> AD/Y
9 |mB2-116 @WB2-115|FHi[FE 400 & 8731 |=v¥> AD/SY
10|#B2-130 #WB2-138|Hi[¥E 400 & 8733 |=v4> AD/i>[165/80R13 5a| 204K
11|#B2-142 WB2-143|HI[4E 400 & 8734 |=vH> ADY
12 |#B2-143 mB2-142|HI[4E 400 & 8735 |=vH> ADsY
13|®B1-35 BB1-36 |B¥EE 502 7% 1112 |ho¥ 1>94+
14|®B1-36 2B1-35|R¥EE 502 7% 1114 |&v¥ 1294+
15|®B1-39 ®B1-40 | EE 502 & 8009 |Hhos 1294k 175/65R15 6 | 24%
16|®B1-40 ®B1-39 |B£EE 502 T 2203 |hvs 1294k
17 |#B2-91 BE 502 7% 7320 |®v¥ 4v4qF
18 |#B2-92 BE 502 & 8003 |hvy 4v44F
O[RE BE 301 D 396 |kaE TUHR
20|#B2-76 #B2-77|E£FE 301 D 395 |ka% FUDR
21(ms2-77 me2-76 |BEEE 301 9= 7997 |ka% FUHz
22 |&B2-128 mB2-127|BXEE 301 7% 7592 |F2% FUHR
23 |me2-140 ez [BE B 301 D 7007 [F3% FUIR 185/65R13 s&| 2%
24|R’RE BE 301 7% 8139 |ras Juvrex
25 |@B2-141 w2140 | BXEE 301 &3 1730 |F3% FUHREX
26|RE BEE 532 F 34 |=vv vovo-r
21|RE BE 500 & 966 |=/tL L#v+|185/70R14 18] 4K
28|®B1-20 K 301 & 1070 |=/sn 4>7vv%(195/65R15 18] 4K
29 [poeres i 300 K 3031 A% *v7/% 195/80R15 107/105 L LT| 2& 8
30 |s#B2-159 BEE 301 & 1445 (|r3% nqz—=x
31[®B1-16 ##5E 301 D 4439 |~z =z274<Hv|215/60R17 18| 4K
32 [mzo1ar BE 502 42 147 |#4/1v £—F[215/65R16 18] 4X
it 328 | 128K




